
12

34

5
6
7
8
9
01
11
21
31
41
51
61
71
81
91
02
12
22
32
42
52
62
72
82
92
03
13
23
33
43
53
63
73
83

A B C D E F G H I J K L M N O Q R S T

rebmuN tnuoccA
 lautcA 3102

tnuomA
 dednemA 4102

tegduB

 lautcA 4102
 fo sa tnuomA

41/11/6
 sroyaM 5102

dednemmoceR
 & 51 YF ffiD %

41 YF

5284 00.0$ 00.000,57$ 00.0$ 00.000,561$ %021

00.0$ 00.000,57$ 00.0$ 00.000,561$ %021

0064 )37.291$( 00.0$ 00.0$ 00.0$

)37.291$( 00.0$ 00.0$ 00.0$ +++

501_5504 36.946,211$ 00.000,521$ 93.471,24$ 00.0$ %001-

36.946,211$ 00.000,521$ 93.471,24$ 00.0$ %001-

09.654,211$ 00.000,002$ 93.471,24$ 00.000,561$ %81-
09.654,211$ 00.000,002$ 93.471,24$ 00.000,561$ %81-

09.654,211$ 00.000,002$ 93.471,24$ 00.000,561$ %81-

001_0005 57.820,155$ 00.512,245$ 93.281,705$ 00.352,075$ %5

011_0005 00.0$ 00.0$ 00.0$ 00.0$

511_0005 18.002,9$ 00.000,01$ 00.0$ 00.000,5$ %05-

0015 00.0$ 00.0$ 00.0$ 00.0$

511_0025 00.034$ 00.0$ 00.049,2$ 00.076$

521_0025 00.0$ 00.0$ 00.0$ 00.0$

031_0025 00.053,2$ 00.053$ 00.0$ 00.0$ %001-

001_0045 00.0$ 00.023,24$ 57.448,73$ 00.951,44$ %4

501_0045 00.0$ 00.0$ 00.0$ 00.0$

511_0045 00.0$ 00.712,26$ 59.302,56$ 00.829,17$ %61

021_0045 00.0$ 00.885,81$ 03.145,51$ 00.987,14$ %521

521_0045 00.0$ 00.0$ 00.0$ 00.111,701$

031_0045 00.0$ 00.541,5$ 86.765,5$ 00.541,5$ %0

ecnarusnI htlaeH stifeneB eeyolpmE 00.0$ 00.111,701$

ecnarusnI latneD stifeneB eeyolpmE 00.0$ 00.0$

B tnemeriteR stifeneB eeyolpmE 00.0$ 00.117,9$

noitasnepmoC srekroW stifeneB eeyolpmE 00.0$ 00.102,32$

ACIF stifeneB eeyolpmE 00.0$ 00.938,1$

ecnarusnI tnemyolpmenU stifeneB eeyolpmE 00.0$ 00.0$

stnemesrubmieR elbaxaT ecivreS lanosreP rehtO 00.0$ 00.0$

elbaxaT ecnawollA ecivreS lanosreP rehtO 00.0$ )00.053$(

emitrevO 00.0$ 00.0$

noitasnepmoC rehtO ecivreS lanosreP rehtO 00.081,2$ 00.076$

emiT traP ralugeR segaW dna seiralaS 00.0$ 00.0$

yraropmeT/lanosaeS segaW dna seiralaS 00.000,02$ )00.000,5$(

noisiviD 000 nimdA

secivreS lanosreP

emiT lluF ,ralugeR segaW dna seiralaS 00.163,425$ 00.830,82$

slatoT euneveR 00.000,882$ )00.000,53$(
sesnepxE

tnemtrapeD 50 yenrottA ytiC

nimdA :latoT noisiviD 00.000,882$ )00.000,53$(
yenrottA ytiC :latoT tnemtrapeD 00.000,882$ )00.000,53$(

stiefroF dna seniF

ytefaS cilbuP csiM  seniF 00.000,002$ )00.000,521$(

stiefroF dna seniF :latoT 00.000,002$ )00.000,521$(

secivreS rof segrahC

secivreS roF seeF 00.000,57$ 00.0$

secivreS rof segrahC :latoT 00.000,57$ 00.0$

seuneveR latnemnrevogretnI

latnemtrapedretnI 00.000,31$ 00.000,09$

seuneveR latnemnrevogretnI :latoT 00.000,31$ 00.000,09$

euneveR

tnemtrapeD 50 yenrottA ytiC

noisiviD 000 nimdA

TV ,notgnilruB fo ytiC

tropeR teehskroW tegduB

noitpircseD
 dednemA 3102

tegduB
 & 51 YF ffiD $

41 YF
dnuF 101 dnuF lareneG
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A B C D E F G H I J K L M N O Q R S T

rebmuN tnuoccA
 lautcA 3102

tnuomA
 dednemA 4102

tegduB

 lautcA 4102
 fo sa tnuomA

41/11/6
 sroyaM 5102

dednemmoceR
 & 51 YF ffiD %

41 YFnoitpircseD
 dednemA 3102

tegduB
 & 51 YF ffiD $

41 YF
93
04
14
24
34
44
54
64
74
84
94
05
15
25
35
45
55
65
75
85
95
06
16
26
36
46
56
66
76
86
96
07
17
27
37

531_0045 00.0$ 00.0$ 28.082,1$ 00.566$

041_0045 00.0$ 00.0$ 00.0$ 00.0$

541_0045 00.123,2$ 00.0$ 00.469,1$ 00.004,2$

65.033,565$ 00.538,086$ 98.425,736$ 00.021,948$ %52

0006 12.165,1$ 00.001,2$ 83.823,1$ 00.001,2$ %0

5006 98.242,1$ 00.005,1$ 77.895,1$ 00.005,1$ %0

0106 00.0$ 00.0$ 00.0$ 00.0$

5106 00.0$ 00.0$ 00.551$ 00.0$

0206 00.0$ 00.0$ 00.0$ 00.000,01$

0026 00.051$ 00.0$ 00.0$ 00.0$

2026 19.189$ 00.006$ 99.214$ 00.006$ %0

3026 14.657$ 00.003,4$ 81.357,1$ 00.003,4$ %0

4026 45.812,72$ 00.003,02$ 84.388,22$ 00.003,02$ %0

0536 00.0$ 00.002$ 00.0$ 00.002$ %0

511_0046 05.7$ 00.0$ 00.0$ 00.0$

521_0046 62.042,3$ 00.003,3$ 58.077,2$ 00.003,3$ %0

601_0056 )00.62$( 00.0$ 00.0$ 00.0$

511_0056 08.262,622$ 00.907,281$ 51.050,041$ 00.000,041$ %32-

811_0056 42.027,45$ 00.000,56$ 20.926,54$ 00.000,56$ %0

001_0076 08.708,1$ 00.000,2$ 59.145,1$ 00.000,2$ %0

011_0076 06.574$ 00.000,1$ 42.68$ 00.000,1$ %0

001_0086 00.0$ 00.0$ 00.0$ 00.0$

501_0086 00.0$ 00.0$ 00.0$ 00.0$

511_0027 00.0$ 00.000,2$ 00.0$ 00.0$ %001-

61.993,813$ 00.900,582$ 10.012,812$ 00.003,052$ %21-

27.927,388$ 00.448,569$ 09.437,558$ 00.024,990,1$ %41
27.927,388$ 00.448,569$ 09.437,558$ 00.024,990,1$ %41

09.654,211$ 00.000,002$ 93.471,24$ 00.000,561$ %81-

27.927,388$ 00.448,569$ 09.437,558$ 00.024,990,1$ %41

)28.272,177$( )00.448,567$( )15.065,318$( )00.024,439$( %22

09.654,211$ 00.000,002$ 93.471,24$ 00.000,561$ %81-

27.927,388$ 00.448,569$ 09.437,558$ 00.024,990,1$ %41

)28.272,177$( )00.448,567$( )15.065,318$( )00.024,439$( %22:slatoT dnarG teN )00.057,646$( )00.675,861$(

:slatoT dnarG euneveR 00.000,882$ )00.000,53$(

:slatoT dnarG esnepxE 00.057,439$ 00.675,331$

slatoT esnepxE 00.057,439$ 00.675,331$

dnuF lareneG :latoT dnuF )00.057,646$( )00.675,861$(

yenrottA ytiC :latoT tnemtrapeD 00.057,439$ 00.675,331$

:slatoT euneveR 00.000,882$ )00.000,53$(

gnitarepO lareneG :latoT 00.900,783$ )00.907,43$(

nimdA :latoT noisiviD 00.057,439$ 00.675,331$

segrahC ataD TB  secivreS rof seeF 00.0$ 00.0$

tnempiuqE esaeL/tneR 00.000,2$ )00.000,2$(

esnepxE levarT gniniarT & levarT 00.000,1$ 00.0$

enohpeleT  secivreS rof seeF 00.003,3$ 00.0$

secivreS lautcartnoC secivreS tnatlusnoC dna lanoisseforP 00.005,75$ 00.0$

noitacudE gniniarT & levarT 00.000,1$ 00.0$

yenrottA ytiC secivreS tnatlusnoC dna lanoisseforP 00.0$ 00.0$

noitartibrA/lageL secivreS tnatlusnoC dna lanoisseforP 00.907,582$ )00.907,24$(

retawetsaW/retaW seitilitU 00.0$ 00.0$

snoitacinummoceleT seitilitU 00.003,3$ 00.0$

skooB 00.005,72$ 00.0$

gnisitrevdA & ecitoN lageL 00.0$ 00.0$

tgM repaP/gniypoC/gnitnirP 00.006$ 00.0$

snoitpircsbuS/seuD 00.000,1$ 00.0$

tnempiuqE eciffO 00.0$ 00.000,01$

seilppuS dnA seeF lacideM 00.052$ 00.0$

tnempiuqE retupmoC 00.0$ 00.0$

erawtfoS retupmoC 00.0$ 00.0$

gnitarepO lareneG

seilppuS eciffO 00.053,2$ 00.0$

egatsoP 00.005,1$ 00.0$

gnikraP eeyolpmE stifeneB eeyolpmE 00.002,1$ 00.004,2$

secivreS lanosreP :latoT 00.147,745$ 00.582,861$

ecnarusnI efiL stifeneB eeyolpmE 00.0$ 00.566$

pmoC/kciS/caV deurccA stifeneB eeyolpmE 00.0$ 00.0$
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